B[w Chip p—

Low Voltage Input

Note: External power supply may be required.

A

CAUTION: ADVERTENCIA:

Before starting, turn off power Antes de comenzar la instalacion,

at main circuit panel. apague la corriente en el tablero
principal.

ATTENTION:

Coupez I'alimentation avant de
proceder a l'installation.

Calling for backup? Scan above
to contact our team.

www.RBW.com
+1 212 388 0399
support@RBW.com
© RBW Studio LLC, 2013, 2020



Item | Qty | Part number Description
Chip Housing
1 ! 12539 Sub-Assembly
2 1 12687 Chip Hidden Mount Plate
3 1 12688 Chip Diffuser
4 2 12689 Chip End Fastener
Socket button head cap
> 2 92949A150 screw #6-32 x 0.625 Steel
Flat countersunk head (82)
6 2 91771A197 machine screw #8-32 x

0.75 Stainless Steel

Chip Hidden Mount Plate

#6-32 x 0.625 Steel

) : 2.
Gl
E .
3
, : Q.
Flat countersunk head (82) machine H;g,' e
screw #8-32 x 0.75 Stainless Steel s | B ‘®
s :Zﬁ K \
o :E
g:
|
4
:E‘
¥
° B
\ )
Socket button head cap screw %

Installation - Mount Plate & Housing Sub-Assembly

1. Fix Chip Mount Plate to desired mounting surface
with included #8-32 or appropriate fasteners.

2. Connect Red and White (+) and Black and Green (-)
Sconce wires to externally located driver outputs.

3. Using provided #6-32 Button Head Cap Screws
fasten Chip Housing Sub-Assembly to Mount Plate.



Chip End Fastener

@ @
o ﬁ:gj%%
@ @

—
di:qg di

~—o
(]

Chip Diffuser

Page intentionally left blank

/ dicqy diiqn di-qu di:qy di:qy iy

)
{7

Installation - Glass

4. Place Chip Diffuser on Chip Housing Sub-Assembly.
5. Secure with 2 included Chip End Fasteners.
6. Congratulations! End of guide.




B|W Ch i p 12543 rA
AC Input A

CAUTION: ADVERTENCIA:

Before starting, turn off power Antes de comenzar la instalacion,

at main circuit panel. apague la corriente en el tablero
principal.

ATTENTION:

Coupez I'alimentation avant de
proceder a l'installation.

Calling for backup? Scan above
to contact our team.

www.RBW.com
+1 212 388 1621
support@RBW.com
© RBW Studio LLC, 2013, 2020




Item | Qty | Part number Description
Chip Housing
! ! 12539 Sub-Assembly
2 1 12687 Chip Hidden Mount Plate
3 1 12686 Chip Mount Plate
4 1 12688 Chip Diffuser
5 2 12689 Chip End Fastener
Socket button head cap
0 2 92949A150 screw #6-32 x 0.625 Steel
Flat countersunk head (82)
7 2 91771A197 machine screw #8-32 x

0.75 Stainless Steel

Flat countersunk head (82) machine
screw #8-32 x 0.75 Stainless Steel

///

3, /m
o)

Socket button head cap screw M
#6-32 X 0.625 Steel e

Installation - Mount Plate & Housing Sub-Assembly

1. Use 2 #8-32 Flat Head Fasteners to secure Chip
Mount Plate to desired mounting location.

2. Connect Sconce leads to power feed.

3. Using provided #6-32 Button Head Cap Screws
fasten Chip Housing Sub-Assembly to Mount Plate.



Chip End Fastener

Chip Diffuser

Page intentionally left blank

Installation - Glass

4. Place Chip Diffuser on Chip Housing Sub-Assembly.
5. Secure with 2 included Chip End Fasteners.
6. Congratulations! End of guide.




	CHP Chip Sconce Instructions (DC Input) - 14774.pdf
	14774-Instr Cover-
	-p.2-

	CHP Chip Sconce Instructions (AC Input) - 12543.pdf



